Introduction to 7th Chord Inversions

J. Weston Mize

Major 7th Drop 3 Voicings:
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Major 7th Drop 2 Voicings:
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Dominant 7th Drop 3 Voicings:
5 G’ G’/B G7/D G’/F
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Dominant 7th Drop 2 Voicings:
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Minor 7th Drop 3 Voicings:
, G G-7/Bb G-/D G-T/F
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Minor 7th Drop 2 Voicings:
O C-7/Eb C-7/G C-7/Bb
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Minor 7th Flat 5 Drop 3 Voicings:

13 G-7(b3) G-7(b5) /Bb G-7(b5) /Db G-7(b3) /F
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Minor 7th Flat 5 Drop 2 Voicings:
5 C-7(b3) C-7(b5)/Eb C-75)/Gb C-7035)/Bb
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Diminished Drop 3 Voicings:
, @ G°/Bb G°/Db GO/Fb
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Diminished Drop 2 Voicings:
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